10. Consider the following statements :

’ i ct formed in .
7. The major produ Assertion (Ass) : A tin plated

b following reaation Js iron article corrodes
IO' Cﬁ 2 equiuLDA quickly but a galvanized
/N \o it B article of iron does not
‘('.) o corrode readily.
( Ao e Rei;son (R) : In the tin Plﬁ}toed
& B \ iron, the more electropositive
" Mo i | ! %y’ron functions as the anode
(B) 7 - “wand thus a galvanic cell is
o o set up. But in the sec%ng
o . case, zinc 18 mor
€ \E'\o o electropositive than iron and
0 O ‘ - ——it forms the anode.
- (D) /X\o Lt Pick-up the correct answer
; - using codes below :
8. In the reaction T Codes -
Ph O 1. McMgBr o o (A) Ass is true but R is false
o B A4 B N (B) Ass is false but R is true
o RO (C) Ass and R are both false
A and B respectively, are (D) Ass and R are both true
(A) Benzoic acid and:toluene
v (B) nol and berZoid! acid 11. Given below are two statements,
#€Y” Acetophenone and. phenol ~ one labelled as Assertion (Ass)

 wand the other as Reason (R).
| elect your answer from the
odes given below.

D) Acetophenone and anisole

~4Consider the following

statements ; i issertion (Ass) : NH; belongs
. ''Assertion (Ass) : For the cellz’] . :
fenction to C3y point group.

4B v 0, 1 4H* Bry +2H,0 ;

1.Iy

Reason (R) : NHj possesses the

i A |
. ] | identity (E), a two fold axis with
it Efeu =+0165V (at 25 C) | which are associated one twq

' the value of logK, =108 fold rotations (C2) and two
Reason (R) ; Theoretically _lf ‘ vertical mirror planeg (20v,)

calculated log K. value is'10-8 ddes :
Pick-up the correct answer (&) Both (Ass) and (R) ar tru
1 A e
~.using codes below - and (R) is the) Correc?;-

rodes :

s explanation of (Ass)
(A) Ass_and R are both true

(:3) Both (As_s) and (R) are true
a but (R) 1S not the correct
e o (@/(g&pla:natmn of (Ass)
: Ass) is true but (R) is wrong
IS wrong but (R is true

Ss and R
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12. Some of the following statements
are true and: some are false.
Select the correct answer from
the codes given below :

a) Ligand to metal (L — M)
charge transfer occurs in

the species [Fe (SCN)s]*"
and thus it shows very
intense colour

b) Ci [Pt (NH;),Cly] may be

prepared from
tetrachloroplatinate (II) ion

by the reaction with NH,

¢ onactin is a typical cyclic %
" ionophores and may form U,_gr@’

complexes with K* ion

d) Typical aromatic reaction
type is not shown by,
ferrocene

Codes : a) b) c) d)

(A) False True False True

(B) True False False True

( True True True False/ |-

(D) True False True False

13. Which of the following complex will
have a tetragonally compressed
octahedral geometry ?

@ [er (H,0)]CLy

S

(B): [Fe (H,0)4]S0, -

©  [Fe (H0)5]cls

(H. 20)61Cls

/
¥

14. Given below are two statements,
one lebelled as Assertion (Ass)
and the other as Reason (R).
Select your answer from the
codes given below :

Assertion (Ass) : The visible
absorption spectrum of

[1i (H,0)4]°*, an example

of d’ complex, shows two
apparently overlapping
bands rather than a simple

g
o single band.
}QX Reason (R) : The presence of
pT o the single eg electron

causes the excited state to
be split due to Jahn-Teller
effect.

Codes :

(A) ,,4Ass) and (R) are both true
ssand (R) is the correct

wig €¥planation of (Ass)

{B)-- Both (Ass) and (R) are true

but (R) is not the correct

explanation of (Ass)

(Ass) is true but (R) is

wrong

(D)  (Ass) is wrong but (R) is true

(@)

15. In the Lassaigne’s test organic

compounds

- sometimes
Prussian blue colour is
observed. This ig due to the

following conversions. Find the
correct one using codes below :

| (A) S;I};lgc::zﬁ;i converted to
(B) thoride is converted to CI

( C.ovalent carbon an?i

| mtro.gen‘ are coverted t
Cyanide ion 3

)

Scanned by CamScanner



16. The D-Configuration assigned to
D-glucose is based on 1ts

correlation with
(A) D-alanine

(B) -threose
JC) D-glyceraldehyde
(D) D-Lactic acid

17. Pick out the correct answer —

The point group of
E-diastereoisomer of 1,2-dichloro
ethenc is —
®) Gy o
\mzh \b__,‘l\

Y= 7
(C) Dy b\
(D) Dyq V4

18. Some of the following statements
are true and some"are false.
Read them carefulﬁ#""éﬁd—. then
pick out the correct ans'vm{rom
the codes given below :

() The enantiomers belong to
the same point group.

(ii) The
isometric in their properties.

(iii) Molecular dissymmetry is
the essential and sufficient
condition for enantiomerism.

(iv) Presence of two or more

chiral centres is a sufficient ¢

condition for optical activity
of a compound

Codes : (i) (ii) (i) (iv)

Tru€ True True” False”
(C) False False True True
(D) True False False True

19. The

enantiomers are

(A) True/ False True/ False,

standard reduction

potentials of
Zn?*|zn ==076V
Cu?* [Cu = +0:34V
Ni**[Ni = -025V
Fe** [Fe =—-044V

The most reactive metal above
which displaces other metals
from their salt solutions is

(A) Cu

(B) Fe
(D) Ni L

s

20. Read the Assertion (Ass) and

Reason (R) and indicate your
judgement from the codes
provided below :

Assertion (Ass) : Fully
reversible reactions are

very difficult to find in the
chemical world. )

Reason (R) : Entropy is a
current change with time.
Codes :

(A) Both (Ass) and (R) are true
but (R) is not the only
cxplanation of (Ass)

(B) IP‘:p.th (Ass) and (R) are true
and (R) is the correct
explanation of (Ass)

(C) Both (Ass) and (R) are

\ﬂ/,""‘mg
( (Ass) is correct but (R) is

wrong.

-
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